Align Parallel

NOTE B2 with platform.

I|VI E‘J B"
INSTRUCTIONS

NOTE: The 2 swivel casters, the handle, and the optional floor lock are installed
at the same end of the platform truck. The 2 rigid casters go on the opposite end.

Turn the platform over, so the underside is facing up. Locate a rigid caster Al, onto
the corner mounting plate, then insert carriage bolts A3, from the inside of the
platform mounting plate. Install flat washers A4, and locknuts A5, from the caster
plate side. IMPORTANT: See View "B". Make certain that the rigid casters are aligned

parallel with the edge of the platform truck, then tighten the fasteners. Install
the 2nd rigid caster the same way.

Install the 2 swivel casters A2, at the other end the same way, EXCEPT: Parallel
alignment is not necessary, however an option for appearance only.

OPTIONAL FLOOR LOCK, Bl

NOTE B2: Locate the floor lock onto the middle plate with the foot pedal facing

outward and aligned squared up to the platform. Install fasteners B3, B4, and BS,;
the same way as with the casters.

PARTS LIST-CASTER WHEELS
ITEM| PART NO. NAME ' MATL/SPEC.

Al |per cust. order Caster Wheel, Rigid
A2 |per cust. order Caster Wheel, Swivel

A3 | 8005-002 Carriage Bolt 3/8-16x1.00 1g.
A4 | 8003-006 Flat Washer 3/8 ID.
A5 | 8001-006 Locknut 378-16

Ttems A3, A4, & A5 above are part of hardware pack #2800-HL, (16 pcs. of each).
PARTS LIST-FLOOR LOCK

ITEM{ PART NO. NAME MATL/SPEC.

Bl |per cust. order Floor Lock

B3 |8005-002 Carriage Bolt | 3/8-16x1.00 1g.
B4 [8003-006 Flat Washer 3/8 ID.

B5 |8001-006 Locknut 3/8-16

Items B3, B4, & B5 above are part of hardware pack #2800-H2, (4 pcs. of each).

CASTER WHEELS AND OPTIONAL FLOOR LOCK INSTALLATION ON PLATFORM TRUCKS

Inst. Doc. No. 8200-005
Rev. Feb. 1, 1998 Page 1 of 1.



